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4 The questions are of objective type. Hereis an
example.
Question : 8 Taj Mahal was built by—
(A) Sher Shah (B) Aurangzeb
(C) Akbar (D) Shah Jahan

The correct answer of this question is Shah Jahan. You
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SECTION-I: CHILD PSYCHOLOGY & pEVELOPMENT PEDAGOGY,
TEACHING LEARNING pPROCESS

ufsie 3 o wdufeg gam | o Ebbinghaus had done the

“““““““ ® B pioneering experiments on :
(A) TIET (A) Perception

(B) HaT (B) Emotion

(C) Hfa (C) Memory

(D) = (D) Thinking.

3. Sofrs TAfEE F1 dEuE S | 2 Who is the father of individual

2? Psychology ?
(A) =fae & _ (A) David Hull
B) urfeEw | (B) Thorndike
(C) zewe fam | | ' (C) Alfred Binet
(D) seHg Teal (D) Alfred Adler.

3. ‘garg &1 faH’ fops g0 R ™2 |8, q,aw of effect’ was coined by :

(A) feat (A) Skinner
(B) Heaerd ' (B) Pavlov
(C) Hea (C) Kohler
(D) greEs! (D) Thorndike.
P.T.O.
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Self actualisation is proposed by :

(A) Carl Rogers
(B) Abraham Maslow
(C) Sigmund Freud

(D) William James.

According to Darwin, the variation
in behaviour passed from one
generation to next generations is

dueto:

E(A} Selection

(B) Cultural changes

(C) Inheritance

(D) None of the above.

Children often learn the habit
of telling lies when the discipline
is:

(A) Authoritative

(B) Permissive

() Democratic

(D) Submissive:
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(A) 9fg

(B) ®f=

(C) sfygfd

(D) srfygerHdnl
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15.

It is the extent to which a test

measure 1t purports to measure
i8

(A) Validity

(B) Reliability

(C) Norms

(D) Probability.

................ refers to the development
of the Individual with all his/her
potential.

(A) Self actualization
(B) Subjective competence
(C) Mood management

(D) Cognitive competence.

rreseseneneanens may be defined as a

tendency to choose one activity in

preference to another.
(A) Intelligence

(B) Interest

(C) Attitude

(D) Aptitude.

P.T.O.
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Stephen Ceci has suggested that
intelligence consists of ................

LHAL AT6 ...oviinmmraress based and linked

to the context.

(A) multiple abilities, biologically
(BJI multiple intelligence, learning
(C) modules, developmentally

(D) processors, cognitively.

Personal, bodily-knowledge and
musical are intelligence of
concern to :

(A) Sternberg

(B) Gardner

(C) Information
theorists

(D) Binet.

processing

What role does the basie processing
mechanism play in Anderson’s
theory?

(A) Itisone ofthe forms of specific

a,b;htles that determine
intalhgence

(B) It is one of the subtypes of
intelligence

(C) It implements thinking

(D) It is another name for
propositional thought.
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19.

20.

In Sternberg’s Triarchic theory of
Intelligence the solution of an

analogy item involves :

(A) enc'oding processes and

comparison processes

(B) experience and abstract

reasoning

(C¥ geéneral processes and specific

processes

(Dy worbal ® @bilities® and

pgrformance abilities.

Research shows that the following

" does not contribute to Teacher’s

effectiveness:

(AY Communication slul]s
(B) Use of ICT

(C) Years of Experience

(D) Use of Student feedback.

P.T.O.
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21,

2.

Which of the following statements

best defines Maturation?

(A) It is directly based on Social
Cognitive Learning

(B) It is an Automatic Biologica]
development of the body that
naturally unfolds overtime

(C) It does not take place in
human beings

(B) Itisthe basis of all Physical and
Physiological developments.

Which eof the follewing is a

characteristic of Chomsky’s

| theery ?
. (A) 'develtpmentuo_f language is

between three and five years

of age '
(B) language develepment is

_depandentlntheminﬁ:mments
. mceiwadhytheehild

- children acquire mistakes in

Innguage by Ibsemng their
parents and ethers areund
them |
() children have an innate

mental grammar.
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(A) 10-19

(B) 35-49

(C) 55-70

(D) 20-34.

23.

24.

25.

€11)

Failure to Deve]op consistent

identity results in :
(A) Inferiority
(B) Role confusion
(©) St&gl}atiun

(®) Social isolation.

Betecting movement in spite of
camouflage is easier for people who

are:

(A) Field dependent

(B) Infield dependent

(C) Both field dependent and field
independent ':

() Nefther field dependeif aae
field dependent.

People with moderate mental
retardation would have an IQ in

the range of : ;

(A) 10-19 %
(B) 35-49

(C) 55-70

(») 20-34. |

pTO. {
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Who is famoué Psychollinguistic *
(A) Gardner

(B) Allen Newell
(C) A.Simon

(D) Noam Chomsky.

According to the J. B. Watson

Psychology is a Science of :
(A) Soul

(B) Mind

(C) Behaviour

(D) Brain.

Who defined ‘Psychology’ as the
scientific study of activities of

organism in the relation to its

environment ?

(A) J.B. Watson
(B) Sigmund Freud
(C) Wood-Worth

(D) William James.



29.

30.

J-2106-Series-D

‘AT Y detes STATE fiy
J5 o g fovd 9% " mye
fpgs gra uftafya feean

(13)

29,

30.

Who defined Psychology as the
geience of immediate experience
with consciousness being the main

subject matter o

(A) E.B. Titchner
(B) ‘William James
(C) -Sigmund Freud

(D) Wilhelm Wundt.

~ Which Psychologist constructed

the first Intelligence test?
(A) William James

(B) J.B. Watson

(C) William McDougall

(D) Alfred Binet.

PEO,

<d,




GECTION-II : CHEMISTRY

&
3. wmﬁmm
2
(A) AG >0andAS>0
(B) AG <0 and AS <0

(C) AG <Qand AS>0

(D) AG=0and AS>0.

32, SR S g R
(A) C H,
(B) B,N,Hg
(C) B,N,H

(D) B,N,H,.

33. mmammﬁﬁmﬂ 33.

4 At faemA @ pH & A ©
(A) 4.75 |

(B) 1.58

(C) 9.25

(D) 7.42.

J-2106-Series-D
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e

Appropriate condition for the
Spontaneity of @ process 18 ;

(A) AG >0andAS>O

(B) AG <O and AS <O

(C) f3_(3,<1[)an-:1z_\..‘:‘,:>(ﬁ'}!

(D) AG =0andAS>O.

Inorganic benzene has formula :

(A) CgHg

(B) ByN,Hg

. (© BN

% -~ () B,N,H,

f
S

The value of pH for buffer which is

a mixture of Acetic acid and

Sodium acetate is :
(A) 4.75
(B) 1.58
(C) 9.25

(D) 7.42.
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(A) HeR
(B) dhR
(C) NEen |HEad

(D) Fias guEgdl
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e
(A) Ga
(B) Ge o=
(C) Ti
(D) Sec.

Mol L1 sec-! form aififman &l
feertia =1 a0t @7

(A) A
(B) 1

(C) 2

(D) 3.

37.

38.

(16)

A pair of Propanoné and Propang]

1S :

(A) Metamer

(B) Tautomer
(C) Chain isomer

(D) Functional isomer.

Name the element that discovered

later and which has similar

properties to Eka-boron according

to Mendeleev in his earlier
prediction:

(A) Ga

(B) Ge

©) Ti

(D) Se.

Mol L sec™! are the units of rate

i mﬂ?nt for which reaction?

(A) Zero
(B) 1
(C) 2

(D) 3.
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Which one 18

©
~H

(A) Cotton













Which of the following molecule
forg 379] 1 1"ggaﬁ'q 3TI'=I°f Al %? has high dipole moment among

(A) NHj
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LLargest number of

are :
(A) Neutrophils
(B) Eosinophils
(C) Basophils

(D) Monocytes.

Aril is the edible part of :
(A) Apple

(B) Litchi

(C) Banana

(D) Mango.

WBCs

During light reaction in the

Photosynthesis the followings are

formed :

(A) ATP and Sugar

(B) Hydrogen, Oy and Sugar

(C) ATP, Hydrogen donor and O,

- (D) ATP, Hydrogen and O, donor.

PT.O:
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“Survival

et frh g o ¢
(A) T
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(D) TN
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68 T o e E
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(D) 39U |Ht

69.

(C) a woge & el dan
(D) A%H & A &7
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(D) Allofthese.

The idea of “Survival of Fittest”

was first presented by :
(A) Spencer

(B) Lamarck

(C) Darwin

(D) Huxley.

Type of Placenta in humans is :
(A) Chorionic placenta

(B) Deciduate placenta

| (C) Hemochorial placenta

S
=

(B) Cortex of nephron

(C) Inner wal) of Bowman’s

capsule

(D) Neck region of Webhron
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Formation of antibodies wit}
Human bodies i
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’GT LIkl 0| 73.  Which of the following h”rm”ﬂt:s

is associated with the Stnmata]

e | Halid % | movement?

(A) S (A) Auxin

(B) fritfe | (B) Gibberellins
(C) weifwfe (C) Cytokinin
(D) ABA. (D) ABA.

|I e
74. R H BE-91 ﬂﬂm’]ﬁfﬁq 74. Which part of Brain controls

=l Frf@ s 22 e Intellectual ability?
(A) SR uife ; (A) Frontal lobe
(B) fuxta wifa “ (B) Parietal lobe
(C) vr@ wuifa | | ~ (C) Temporal lobe
(D) 9¥=ITd Tifal - | (D Occipetal lobe.

75.  3EFHe fH@ eHF F FH F FRO | o5

Diabetes insipidus is caused by the

g 22 deficiency of hormone -
(A) zgfaA (A) Insulin

(B) TeHITH (B) Glucagon

(C) =HmfET (C) Vasopressin

(D) AereIfE| (D) Oxytocin.

J-2106-Series-D (28)
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(D)ﬁaﬂﬂﬂﬂﬁl
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78.

HC] is secreted by :
(A) Peptic cells

(B) Goblet cells

(C) Argentaffin cells

(D) Oxyntic cells.

Joker of the plant kingdom :
(A) Cyanobacteria
(B) Mycoplasma

(C) Bryophytes

(D) Thalophytes.

DNA fragments are :
(A) Positively charged
(B) Negatively charged
(C) Neutral

(D) Having both charges.

P.T.O.
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(A) TSI
(B) Scd

©) =
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(A) fafeardt
(B) daet
(C) wrerdt
(D) e

83.

84.
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Ginger 15 an example of ;

(A) Rhizome

(B) Bulb
(c) Corm
(D} Tuber.

When leaflets one joined together

at a common point at the petiole

the leafis called 7 .

(A) Simple leaf

(B) Pinnate compound leaf
(C) Palmate compound leaf

(D) A branch.

Tricarpellary syncarpous condition

is found in :
(A) Liliaceae
(B) Poaceae
(C) Solanaceae

(D) Fabaéeae.

PT.O.
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130.

131.

132.

Who is called father of Civil

Aviation in India?
(A) G.D.Birla
(B) J.R.D.Tata
(C) Singhania

(D) None of these.

When Himachal Pradesh was

granted full Statehood in

1971 A.D., it became?
(A) 14th State of India
(B) 20th State India
(C) 18th State of India

(D) 17th State of India.

The first month of Saka Erais:
(A) Vaishakha.

(B) Phalguna

(C) Chaitra

(D) Bhadau.

PTO.









Waves used for Teleconununicatxon..

- are ;

(A) Visible light

(B) Infrared

(C) Ultraviolet







g1 @@ | 145. In which year the Voting ag€ was

45, fo o st A B

reduced from 21 years to 18 years?

B

(A) 1980 3. (A) 1980 A.D.

® 1080 & (B) 1989 AD.
(©) 1998 %,







